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Statement inverse converse contrapositive

• INK includes 0 in this class .

• just knowing P⇒ Q says nothing about inverse t
converse ,

binplications - a promise for Q if P. if P didn't happen, promise is still kept-

p Q p⇒ Q = if P true
, Q true

= if Q false, P false . ← contrapositive-F)If / I ⇒ - need to prove both P⇒ Q and Q ⇒P .
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Quantifiers t =
"

big and
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; F =
"

big or
"

-
u

Negation n (ta plus) I Fn y@cngg
→
if its not true that all u are such ,
there must be some n that

7 (En Pla)) I tn 7 (Pln)) isn't such"

negate from outside to in case flipped quantifiers t Demoingans)
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and observations

• n , y E Z
: NEY E Z , N

° Y E Z , net closed under division

• when working with quantifiers / negating , converting implications

to TP v Q might be easier - try it to
.

• try approaches other than truth table when quantifiers ( t , F) involved

• think of 2D space when propositions are of form Q Guy) , etc .

• quantifier order matters if they
are different




